The 5 Verbs of Algebra 2 RDeview For Unit 4- BM 11

domials (add, subtract, multiply)

e Radicals

e Powers of i

I Simplify the expression (3- 7
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2 Express -/ -300x°y” in simplest form.
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5. Express the product of 3% ~3%| and I+ % | as a trinomial in simplest form.
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FACTOR

® Greatest Common Factor
* Difference of Two Perfect Squares
® Trinomials (Bigger/ Both)

® Grouping
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SOLVE

e Radical Equations
® Quadratic Equations
° Higher Order Polynomial Equations

¢ Systems of Equations
O Linear/ Quad
0 Quad/ Circle

o Linear/ Circle
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3x3 Linear

; 1 Find the solution set of the equation 5~/ 3x - 2 — 4 = 36,
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2. The equation V' =20vC +273 relates speed of sound, V, in meters per second, to air temperature, C,

in degrees Celsius. What is the temperature, in degrees Celsius, when the speed of sound is 320
meters per second?
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3. Find the solution to the equation 18" - 24x+ &7 = 0,
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5. Solve for the roots of the equation x° + 2x+ 5= 0 i simplest @ + bi form.
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6. Solve algebraically for all values of x: ~/x—4 +¥ = 6. @
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7. Solve the equation 2x” = x” = 8x+4 = 0 algebraically for all values of x.
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8. Which point is the solution to this system?
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9. Solve the following systems of equations algebraically:
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10. Solve the following system of equations a]gebralcally for all values of x, y, anﬂ z:
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GRAPH

e Parabolas (Focus & Directrix)
° Higher Order Polynomials
[ ]

System of Equations
o Intersection Point- 2" TRACE 5

Parabola (given focus and directrix)

1. On the grid,
sketch a cubic polynomial
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- whose zeros are 1, 3, and -2.
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